7-PIN TOW PLUG HOUSING
SKID PLATE

(2018-2023+ WRANGLER JL)

INSTALLATION INSTRUCTIONS

CONTENTS TOOLS REQUIRED

(1) Skid Plate 16mm Socket

(2) M10x1.50 x 20mm Bolts Ratchet

(2) M10 Lock Washers Flathead Screwdriver
(2) M10 Flat Washers

SKU # J177413
Edited: 11/30/2022



STEP1

Fit the trailer wiring housing half way into the skid plate, then route and plug in the trailer wiring
harness into the housing. After the housing is plugged in, press the trailer wiring housing into the
skid plate.

STEP 2

With the trailer wiring secure, bolt the skid plate to the vehicle frame below the bumper using the
provided (2) M10x1.50 x 20mm bolts, (2) M10 lock washers, and (2) M10 flat washers. Tighten until
secure.

Installation is now complete.



	J177413 - Barricade - 7-Pin Tow Plug Housing Skid Plate (18+ JL)-01
	J177413 - Barricade - 7-Pin Tow Plug Housing Skid Plate (18+ JL)-02

